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Q1. Fill in the blanks with correct answer.
a. 316 x =0

b. The answer in multiplication is called the

0

.36 Xx49 x 68 = 49 x X 36

o

.4x(5x8) = X =

e. 12 x 400 =

f. x 2000 = 16000
g. If one watch is 40 Rials, then the cost of 10 such watches will be Rials.
h. 6125 x = 6125

Q2. Find the products.

a.5675x9 b. 860 x 52
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Q3. Solve the following word problems.

a. If 950 bags of cement are needed to build a house, how many bags of cement will be
needed to build 25 such houses?

b. What is the total cost of 8 keyboards, if one keyboard costs ¥ 3375?

ISWK-Primary/Department of Mathematics (2021-2022)

Pagez



